Вариант 1
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B tpeyromsamke ABC yrox C npaofi, BC=S, sin 4=0.4. Haitzre AB.
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1. [image: image2.png]Ha stersatoii Gymare orsevers Towkn A, B 1 C. Tlnomans ozsofi xetkn passa 1. Haiizure paccrosme
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[image: image3.png]Haiiure Tanrerc yraa AOB.
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[image: image5.png]Haiizute Tarrenc yria AOB.
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3. [image: image6.png]HatizuTe yrom ABC. OTBeT AaiiTe B rpazycax.
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5. [image: image8.png]Haiimure yrox ABC. Otser gaiite 8
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[image: image10.png]KaTeTs! OpAMOYTOIBHOrO TpeyronbHuKa pasmsi 3v15 m 3. Haffure cHHyc HAHMEHBIICTO yria STOTO
Tpeyromsmmxa.




